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N44,270
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431,859
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1A SXAIE E = 1,439,530 0 1,439,530
0 E2XAIE SAXRQ 2A4HI(87Y) 1,439,530
719,765

287,906
431,859
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1,879,094
404,728
607,092
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T
H
0z
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1,879,094
404,728
607,092

Mo A

01 Al 28X =0dl= 2,890,914 0 2,890,914
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1,879,094
404,728
607,092

A

I W= 16,000 16,000 0
8,000
3,200
4,800

Mo A

307 21201 A 16,000 16,000 0
8,000
3,200
4,800

Mo R

10 A SAAEHE2SEHIEXR 16,000 16,000 0
0 w8l 16,000

8,000
3,200
4,800

HH A

Ag2dH X 43,200 48,000 A 4,800
21,600
8,640
12,960

HH A
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8,640
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HH A

10 A SAAIEHIS2SHIEX 43,200 48,000 A~ 4,800
0 XMHe=2gHl X 43,200
21,600

8,640
12,960

Mo A

ESANE EML EFUE 540 1,560 A 1,020
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CERISTES
g2 BSNHA NS L 2RI 25 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 34,000
= 13,600
= 65,400
402 SI2F X0l & 113,000 30,000 83,000
= 34,000
& 13,600
= 65,400
01 QA XS AIEE =X 113,000 30,000 83,000
0 ESAIAE JIsE2AS(2HA) 60,000
= 30,000
= 12,000
= 18,000
0 ESA4 ZHIBl(400A) 8,000
= 4,000
& 1,600
= 2,400
0 CI2FOI2I0I & (9HA) SAHIMA 45,000
DI2ZIEFAIE g AZH K& 4,800 3,800 1,000
o= 1,920
= 2,880
307 212t0| ™ 4,800 3,800 1,000
o= 1,920
= 2,880
10 AISIEXAIEEHE2IHIEX 4,800 3,800 1,000
0 QI2EFAIL etHASHl K& 4,800
& 1,920
= 2,880
DIZIE S Al EF WA MR &L 42,000 42,000 0
301 LBt A= 42,000 42,000 0
01 Al E & X 462 42,000 42,000 0
0 QIZIESAIE ESWAF ALMAH(70Y)
50,000& = 70¥ * 12& 42,000
BEANAE tMEE K& 4,850 5,480 A 630
o 2,425
= 2,425
301 LBt A= 4,850 5,480 A 630
o 2,425
= 2,425
01 Al E & A 462 4,850 5,480 A 630
0 BESAAE HEEE K& (2,2409) 4,850
= 2,425
= 2,425
282 0ld XH 562,000 32,000 530,000
307 2izto| A 32,000 32,000 0
10 MM SAANEEHESIHEX 32,000 32,000 0
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A
2% 2 =X
e PSMNUIA KT ER-ED
% S 4 14
S =0 (3H) - NEA %Eﬁ HR=2
0 =28 &0l 32,000
401 Al HI L E0HHI 230,000 0 230,000
01 Al&H| 230,000 0 230,000
0ots0elol&aA 230,000
402 SI2FXHE0| M 300,000 0 300,000
01 QIZEXIEAIE 2 X 300,000 0 300,000
0 FHAHAESX 300,000
BKAAZ0/02 0t | 784,733 1,022,555 N 237,822
= 510,076
& 109,863
= 164,794
301 et A= 784,733 1,022,555 N237,822
= 510,076
& 109,863
= 164,794
01 A3 E & A 25 784,733 1,022,555 N237,822
0 A& 0l0I 20} 784,733
= 510,076
= 109,863
= 164,794
2328 Helold X 100,766 99,960 806
= 50,383
& 20,153
= 30,230
307 212t0| & 100,766 99,960 806
= 50,383
= 20,153
= 30,230
10 Al E XA EEHE 100,766 99,960 806
0228 gl 100,766
= 50,383
= 20,153
= 30,230
NIl EEEE ,538,309 802,339 735,970
& ,538,309
301 et A= ,538,309 0 1,538,309
&< ,538,309
01 Al E & A 46 2 ,538,309 0 1,538,309
0 3~5AI +eclt ,538,309
o ,538,309
EFSNAI 2R3N EH| 121,500 162,472 N40,972
= 60,750
= 24,300
= 36,450
301 et A= 121,500 0 121,500
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60,750
24,300
36,450

Mo A

01 M2 X203 121,500 0 121,500
0 EF WA 2234l 121,500
60,750

24,300
36,450

A

CHAI WA 1 24Hl XI& 750 2,000 A~ 1,250

375
375

EUNL

301 et d = 750 0 750

375
375

EUNE

01 A28 H =0dl= 750 0 750
O CHM W AH 1A HIXI& 750

375
375

Mo

OtOIALE 222LIHEY 29 9,364 4,882 4,482
4,682
1,873
2,809

Mo

301 gEtE &= 9,364 4,882 4,482
4,682
1,873
2,809

Mo R

09 BALAIH B A2 9,364 4,882 4,482
9,364
4,682
1,873

2,809

o
=)
> o
o
i
)
to
c
T
o
m
Mo
02

Mo A

SHEALATHAIZISXIH 0 &0l & X & 8,096 7,920 176
4,048
1,619
2,429

Mo

307 2I2t0 & 8,096 7,920 176
4,048
1,619
2,429

U R I

10 ASNAIEHE2SHIEX 8,096 7,920 176
0 sHELTHAISI S XIE 08l 0l E X2 (3 &) 8,096
4,048

1,619
2,429

Mo A

HIZO0HOt s B2 9,116 9,116 0
6,381
2,735

M
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Ha: 2% 2 SN
O9l: e BSAMHA NZ L 208 75 EERED
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et a = 9,116 0 9,116
< 6,381
e 2,735
01 MEIBEZE 06z 9,116 0 9,116
O HIEOHOt Ht=E: B85 X 9,116
< 6,381
s 2,735
OBl 0IADIE A X Z 0l MHIA 2 ALY 11,332 0 11,332
< 5,666
s 5,666
307 21201 A 11,332 0 11,332
< 5,666
[ia 5,666
11T M3 SXASEEX 11,332 0 11,332
0 HEOIADIEXE X ZOIMHIA RS AHY 11,332
< 5,666
e 5,666
Helold HALE ol24d] X3 A 25,200 0 25,200
< 7,560
s 17,640
307 glz2tol & 25,200 0 25,200
< 7,560
[ia 17,640
11T M SRAISE EX 25,200 0 25,200
0 HEI0IE FHALS 2128l XI& 25,200
< 7,560
s 17,640
0iegl0l&d Ots 2+tAaldl XI& 66,240 0 66,240
307 glz2+ol & 66,240 0 66,240
11T MISRASEX 66,240 0 66,240
0 012/0lE Otz 2tAlHl XI&
920 «6,000& x12& 66,240
EFUA FII25 =2 N&E 22,200 0 22,200
307 glz2tol & 22,200 0 22,200
11T M Z2XAISEX 22,200 0 22,200
0 EKUAMN 28 =9 X& 22,200
HelllsSsHA SoIESI 4 900 0 900
< 450
e 450
307 21201 A 900 0 900
< 450
e 450
11T MISAASEX 900 0 900
0 HeloISsHA SAUNESIIAER(3A) 900
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= 3,177
o T2y Al ol 5
550,000& = 103l 5,500
& 647
2 4,853
o Z2IY 80t
14,600& = 103 146
& 17
= 129
03 AR A 12,226 12,226
0 344 H2H 12,226
o O 2 =Tl
225,500 * 12& 2,706
= 143
= 2,563
o Tz ) 24 gl 280,000& * 103 2,800
& 148
- 2,652
o 600,000& = 103 6,000
= 316
= 5,684
o 60,000& * 123 720
& 38
= 682
202 04d| 6,500 6,500
== 450
= 6,050
01 2L Y| 6,500 6,500
0 3AEAMGAMRY FAWHI 6,500
= 450
= 6,050
301 LB A 1,000 1,000
o= 200
= 800
11 JIEt2 &= 1,000 1,000
0 HAUMGADS U SYEBASY
100,000& * 109¥ 1,000
= 200
= 800
405 Kpot 1,000 1,000
o= 100
= 900
02 &= A 1,000 1,000
0 THTY
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= 100
= 900
XS AS A NHAH 25 85,500 103,400
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